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Principles of Economics I - Classroo Experiment (9): Bargaining and Perfect Competition
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2-3 students form a group. There are two 15-minute rounds. Each round has the same trading rules and
earnings table. In round 1, you can only trade with your partner group (multiple times); in round 2,
you can trade with any other group. This is free form bargaining without set rules, but you cannot force
others to trade, or renegade a deal (though you can make a new trade to reverse it). Each group will
receive a set of instructions. The record sheet is at the back of the instructions. Your group number
(say, Al for the first A-group) is written on its upper right corner. You are either an A-group, or a B-
group. Note: Your partner group is the one in the “other” type, but with the same number. E.g.,
A3’s partner group is B3, B1’s partner is A1, etc. At the beginning of each round, each A-group has 44
gold tokens [4 tokens plus 8 big tokens (each representing ““5 tokens”)] and 9 silver tokens; each B-
group has 6 gold tokens and 41 silver tokens [1 token plus 8 big tokens]. Earnings for holding different
combinations of tokens are shown in the earnings sheet. The horizontal axis is the number of gold
tokens; the vertical axis is the number of silver tokens. The number in the corresponding cell is your
earnings. E.g. If group Al has 5 gold tokens and 2 silver tokens, its earnings are 69. If it trades 1 gold
token to B1 for 2 silver tokens, then it now has 4 gold tokens and 4 silver tokens, and its earnings
become 80. Similarly, if group B2 has 3 gold tokens and 3 silver tokens, its earnings are 60. If it trades
1 silver tokens to A2 for 2 gold tokens, then it has 5 gold tokens and 2 silver tokens, and B2’s earnings

become 83. Final earnings divided by 100 is your score for this experiment.

FRTIE AR I ARERIS PRI LR HEE ]
*Let your trading partner record this sheet after each deal!
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2-3 students form a group. There are two 15-minute rounds. Each round has the same trading rules and
earnings table. In round 1, you can only trade with your partner group (multiple times); in round 2,
you can trade with any other group. This is free form bargaining without set rules, but you cannot force
others to trade, or renegade a deal (though you can make a new trade to reverse it). Each group will
receive a set of instructions. The record sheet is at the back of the instructions. Your group number
(say, Al for the first A-group) is written on its upper right corner. You are either an A-group, or a B-
group. Note: Your partner group is the one in the “other” type, but with the same number. E.g.,
A3’s partner group is B3, B1’s partner is A1, etc. At the beginning of each round, each A-group has 44
gold tokens [4 tokens plus 8 big tokens (each representing ““5 tokens”)] and 9 silver tokens; each B-
group has 6 gold tokens and 41 silver tokens [1 token plus 8 big tokens]. Earnings for holding different
combinations of tokens are shown in the earnings sheet. The horizontal axis is the number of gold
tokens; the vertical axis is the number of silver tokens. The number in the corresponding cell is your
earnings. E.g. If group Al has 5 gold tokens and 2 silver tokens, its earnings are 69. If it trades 1 gold
token to B1 for 2 silver tokens, then it now has 4 gold tokens and 4 silver tokens, and its earnings
become 80. Similarly, if group B2 has 3 gold tokens and 3 silver tokens, its earnings are 60. If it trades
1 silver tokens to A2 for 2 gold tokens, then it has 5 gold tokens and 2 silver tokens, and B2’s earnings

become 83. Final earnings divided by 100 is your score for this experiment.
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